Translations:SunZilla - Guide 3: Solar box/20/en

® 4 xSquared aluminium profiles, 732 (I) x 25 (w) x 2 (th)
e 2 xSquared aluminium profiles, 200 (I) x 20 (w) x 2 (th)
e 2 xSquared aluminium profiles, 515 (I) x 20 (w) x 2 (th)
e 3 xSquared aluminium profiles, 560 (I) x 15 (w) x 2 (th)
® 4 xSquared aluminium profiles, 370 (I) x 15 (w) x 2 (th)

® 14 x Hexagonal bolts, M6 x 50 ()
e 14 x Self-locking nuts, M6

e 28 x Washers, M6

® 4 x (Wing) bolts, M6 x 40 (1)

e 8 x Wing nuts, M6

® 4 x(Wing) bolts, M6 x 30 (l)

Page 1/1



	Translations:SunZilla - Guide 3: Solar box/20/en

